prigT v 7 3o

FEHFSVRAI Y Z—
Model IS-3
o[z Rogl;
@ H APPROVED Cs@ us @
TV =g

m L, A7 b
m Ao, RERAATZ > b
m —RPESEA

ST

mHEL>VIE0..01~0..6,000bar[0..3~0..
15,000 psi]

B ATEX, IECEx, FM*>CSAEDHIETY 7 TO M
AMRET T,

B

BOBREEREZ L TWVET,
IS-32 ) —XDF)N +F A3 w Z—IZ ATEX, IECEX, FM
OCSAZH OIS 272 LTI D, OB 2 BOR
ENBEMTOTHHICREETT,

IS-313 %K T6,000bar % TOHJJMIEMNARE T, — RN
BWPEE S EERE DT 7)) r— g V%, bk
I TRV RT X,

et

BREIE TR T AT >V LA TEETRIE2ICmEEINT
WET, NEHDOY—1) U HF T LAY MIRSICEEEINT
W5 Tz8, IFIFETORAmTIC SHATET E T,
SLREAT VL ABIOr— 213, IP65DfIK « BiEERIF&IC
EXRISELTVET,

F 7 g K DIP68IC L WL AIRET T,

WIKA data sheet PE 81.58 - 11/2020

WIKA data sheet PE 81.58

for further
approvals see page
10

I TUFAS—ART R, TS5 a s
o RS
A: T4 —IVRr—AfF&

Ty aBAT TS5 LOTat ABHEE, Rk
THRBARIC X B WEICRE T, HiC b o 7V EE
EITO HMHRE T,

F T arDT =)V R =A%, BB HE . AANC
MRS O @R R T SHEHVWERETET, 77—
ANy RICHEEE N2 T 0 —)V R — ki, 57—
T EFRERICIRO T2 2N TEET,

EERIT S

AL RBROTE 7252 121S-3 L& NS B LG
T HZHR LU X9, HiEhX T ORI 2 B
. REZEPEEORREZ 52 721S Barrieric & o THefi
THRRZAREE LET,

Page 1 of 17

IWIKA!I

tl Part of your business




N

4y

FEALY

J—VH

bar 0..0.1 0..0.16 0..0.25 0..04 0..0.6 0..1 0..16
0..25 0..4 © e © 0..10 0..16 0...25 0...40
0...60 0...100 0...160 0...250 0...400 0...600 0..1,000"
1,600 V2 2,500 2 4,000 "2 5,000 12 6,000 12

psi 0..3 0..5 0..10 0..15 0..20 0..25 0...30
0...50 0...60 0...100 0...150 0...160 0...200 0...250
0...300 0...400 0...500 0...600 0...750 0...800 0...1,000
0...1,500 0...2,000 0...3,000 0...4,000 0...5,000 0...6,000 0...7,500
0...8,000 0..10,000 " 0..15,000 "

1) 75 vy a 7 at AR TR ORI,

2) AL Exi DH, SIS OREIIERSY,

bar 0..0.25 0..04 0..0.6 0..1 0..16 0..25 0..4
0..6 0..10 0..16 0..25

psi 0..5 0..10 0..15 0..30 0...60 0...100 0..160
0...200 0...300

HAUE

bar -1..0 -1...+0.6 -1...+415 -1..+43 -1...45
-1...49 -1...+15 -1..424

psi -15inHg ... 0 -30inHg ...0 -30inHg ... 15 -30inHg ... 30 -30 inHg ... 60
-30inHg ... 100 -30inHg ... 160 -30 inHg ... 200 -30 inHg ... 300

THEHRHICKDY, LRPADIEHL I HGARE T,

IBARELRBERE

WRIERHERAEE., FHEINE 2P —Z L AV MCEDEREL T,

70t ARG &V — VRS DA G DRI K o T RHEEEEICHIENE C 2 AN T EVET,
WRHENE < A BH, BEtEEIE< R X9,

H£111L > <25 bar [< 400 psil: 315l

H£711L> 40 ...600 bar [500 ... 8,000 psil: 2/&iiit £
J£ /11> 21,000 bar [> 10,000 psi]: 1.15%0M T

1) 1,000 psi, 1,500 psi, 4,000 psi and 6,000 psi Tl 1.7f5ii & 720 F9,

WIKA data sheet PE 81.58 - 11/2020 Page 2 of 17



HAES

7ruasHh
4..20 mA

FEAR Q
Model IS-3:
< (AT -10V)/0.02 A - (7 —7LEMxXx0.14 Q)

Model IS-3 7 « — )V K — A} &:
< (BHAET -11V)/0.02 A

IS-3 7« —)V R — A& D7 A Ml ES
<15 Q applies

CARRESE

HAGEFE Ut
Model IS-3: DC 10...30V
Model IS-3 7 + —)V R —ZXf}&:DC 11...30V

ATEX/IECEx iABZ 2858 Exi (R INVETETE)
DOER. FEHEEE

BT Ui=DC30V

#wift:  li=100 mA

FEIE: Group | (mines susceptible to firedamp): P; =
800 mW

Group Il (explosive gas atmosphere other than
mines): P; = 800 mW

Group IlIB (explosive gas atmosphere other
than mines): P; = 800/650 mW

Group IlIC (explosive gas atmosphere other
than mines): P; = 750/650/550 mW

WA g (T — 7 IVIEE 2 A )
Ci<16.5nF
Ci<16.5nF + 0.2 nF/m

WA > B 22 (T —TIVIEE Z A T)
Li =0 pH
Li =0 uH + 2 pH/m

CSA, FMAERK, FEEE (H®RINVZIHETEW)
Entity/non-incendive parameters:

Vmax/Ui =30V

Imax/li = 100 mA JE PHIfLE: < 85 °C [185 °F]

Imax/li = 87 mA JE PRI > 85 °C [185 °F]

Pmax/Pi=0.8 W

Ci =16.5 nF (flying leads: + 0.2 nF/m)

Li =0 pH (flying leads: + 2 pH/m)

WIKA data sheet PE 81.58 - 11/2020

HESEAE FH & (IEC 61298-1HEH1L)

Vi P
15..25°C[59 ... 77 °F]

RSUE
860 ... 1,060 mbar [86 ... 106 kPa/12.5 ... 15.4 psig]

2E
45..75%r.h. (FEFRIEL)

BUYHIE
Tt AR RinEIiC U, WEICHD (N 72 IREE T O
HREW

BtaEIR
DC24V

JoE R
BUE L]

<2ms
< 10 ms AR DY- 30 °C LU N D&

FEEALRR

HESTE SR T CORE
P
15 < +0.5 % of span
*7vav  <+0.25%ofspan’)

1) JE L > 2h8 2 0.25 bar [3 psi] & L < 1& < 1,000 bar [15,000 psi]dD A5 is

JEERME. EXATUV A, BatTvy b, BAfEFEAEE
&35 (IEC 61298-21C & % TR AT FHE)

JEERE: (IEC 61298-2)
< +0.2 % of span BFSL

JEEEME

< 0.1 % of span

OR DR EFREL

[0...80 °C/32...176 °F]

HIE L > <0.25 bar: < +0.4 % of span/10 K
HIE L > > 0.25 bar: < +0.2 % of span/10 K

ANV DGR PEFREL
[0..80°C/32...176 °F]
<+0.2 % of span/ 10 K

HERFERZM TOERZEME
< +0.2 % of span / £F

Page 3 of 17



0 « ANk

FEESFHRNIORT > 2 9 A—X—THHE T,

05 +5%
ANV +5 %

IKEHBR TS 28550, Bt = 7N (www.wika.com)
DIN 00.40 EHZEEMIC B9 2 HiffilE Iz ST E W,

EHERANE « A X
IR - 0 X

BRI A X BAENSES] BT FEAE

EN 837

DIN EN ISO 1179-2

(formerly DIN 3852-E)

ANSI/ASME B1.20.1

SAE J514 E

DIN 16288
ISO 7

JIS B7505-76

G%B 1,000 bar [14,500 psi]
G'%2B 1,000 bar [14,500 psi]
G¥%B 1,000 bar [14,500 psi]
G%A 600 bar [8,700 psi]
G A 600 bar [8,700 psi]
% NPT 1,000 bar [14,500 psi]
Y2 NPT 1,000 bar [14,500 psi]
7/16-20 UNF BOSS 600 bar [8,700 psi]
9/16-18 UNF BOSS 600 bar [8,700 psi]
M20 x 1.5 1,000 bar [14,500 psi]
R Vs 1,000 bar [14,500 psi]
R % 1,000 bar [14,500 psi]
G%B 1,000 bar [14,500 psi]

G %2 B male thread / G 4 female thread 1,000 bar [14,500 psi]
M20 x 1.5 female thread with sealing cone " 6,000 bar
M16 x 1.5 female thread with sealing cone V' 6,000 bar

9/16-18 UNF female thread F250-C ") 6,000 bar
G %2 B flush 600 bar [8,700 psi]
G 1 B flush 1.6 bar [20 psi]

G 1 B flush, hygienic 25 bar [350 psi]

1) psi DRERPATIZBHI £ 72D F9

F T a v DERE - YA X (6X—IBH)

BEHY A X

EN 837

DIN EN ISO 1179-2

(formerly DIN 3852-E)

ANSI/ASME B1.20.1
1ISO7

G%B 400 bar [5,800 psi]
G2B 400 bar [5,800 psi]
GVaA 400 bar [5,800 psi]
Y2 NPT 400 bar [5,800 psi]
RVa 400 bar [5,800 psi]
G "2 B flush 600 bar [8,700 psi]
G 1 B flush 1.6 bar [20 psi]

G 1 B flush, hygienic 25 bar [350 psi]

1) Restrictions depending on sealing material, see table “Sealing material restrictions for G ¥z B flush process connection”

WIKA data sheet PE 81.58 - 11/2020

1,400 bar [20,300 psi]
1,800 bar [26,100 psi]
1,400 bar [20,300 psi]
600 bar [8,700 psi]
600 bar [8,700 psi]
1,500 bar [21,700 psi]
1,500 bar [21,700 psi]
600 bar [8,700 psi]
600 bar [8,700 psi]
1,800 bar [26,100 psi]
1,600 bar [23,200 psi]
1,400 bar [20,300 psi]
1,000 bar [14,500 psi]
1,400 bar [20,300 psi]
15,000 bar

10,000 bar

10,000 bar

600 bar [8,700 psi]

10 bar [145 psi]

50 bar [725 psi]

BRAEAEET] BOKI EME

800 bar [11,600 psi]
800 bar [11,600 psi]
600 bar [8,700 psi]

800 bar [11,600 psi]
800 bar [11,600 psi]
600 bar [8,700 psi]
10 bar [145 psi]
50 bar [725 psi]

Page 4 of 17



T—)VE

S _

_

EN 837 ATV UVARF—IV

DIN EN ISO 1179-2 (formerly DIN 3852-E) NBR ") FKM/FPM 2

SAE J514 E NBR " FKM/FPM 2

G %2 B flush NBR 1) 4) FKM/FPM 2 4, FFKM 2 4, EPDM 3 4)
G 1 B flush NBR ") FKM/FPM 2, EPDM @

G 1 B flush, hygienic EPDM 9 -

E =]

A FEHIPE: -20 ... +100 °C [-4 ... +212 °F]

éim!#f [f:-15 ... +200 °C [5 ... 392 °F]

3) u‘Fﬁnmfgf [#fl: 40 ... +150 °C [-40 ... +302 °F]

4) AT DO Tidfor G 12 Bf7 T v ¥ a i ¥ — )Wk —5 & TBIFE W,

Except for sealings for process connections per EN 837 the sealings listed under “Standard” are included in the delivery.
G%B 7oy ¥alfiDy—IVH—&

T=-20...+80 °C [-4 ... +176 °F] T=-20...+150 °C [-4 ... +302 °F]
NBR 1,200 bar [17,400 psi] N/A
FKM/FPM 1,200 bar [17,400 psi] 600 bar [8,700 psi]
FFKM 1,200 bar [17,400 psi] 1,200 bar [17,400 psi]
EPDM 800 bar [11,600 psi] 400 bar [5,800 psi]
T = JHIHiR
N/A = JEE T
Bsirg

SHEmm)7E SRR E D

BHREIAS © Ex nADSE
m Circular connector M16 x 0.75 IEC 61076-2-106
B F#EF Yy TEIPET =TV a vk b

m P68 —T )Lt (WARN T O )

Bl RAE @ ExtcDGH
m R#ESFY Y TE P67 —T7 )V arte b

m P68 —T )Vt b (RN T OKEHE )

5L > > 1,000 bar

B 72Fa2T—a3%x7 % DINEN 175301-803 A

m Y—27)LaxZ % M12x1IEC 61076-2-101 A-COD
m P67 —7)Varerk

B = IVRT—X

R

U+VS. U-

R
DC 500V

WIKA data sheet PE 81.58 - 11/2020 Page 5 of 17



TYF¥aT—aAxs R Y—)axyx NIxy hazxsx

DIN EN 175301-803 A M12 x 1 IEC 61076-2-101 MIL-DTL-26482 (6-pin)
A-COD (4-pin)
axr¥a vl
BUSHLE (2470 U+=1 U-=2 U+=1 U-=3 U+=A U-=B
r—=7IWV—)JVF - - -
T A ¥ —WriEmiE K 1.5 mm? = -
r—7IVE 6...8mm - _

FRRAREAE: 10 ... 14 mm

NIxy baxy Xz J—2)yazxsZ&x M16x0.75 |»—F)artr bk
MIL-DTL-26482 (4-pin) IEC 61076-2-106 (5-pin)

axT¥a v
%0 o4 ———
BUTHAIE (247=X) U+=A U-=B U+=3 U-=1 U+ = 4% (BN) U- = f& (GN)
F—TIV—IVE - - P (GY)
T A X — Wi - - 0.5 mm?
r—7IVE - - 6.8 mm
7.5 mm (BRNIC TR 555)
F—T)averhk T4 —IVE—2R
IP67HILRE T v v &
aAx7>a v
——— I
112|3(4]5

BT (2537=X) U+ = Z5(BN) U-=75 (BU) U+=1 U-=2 Test+=3 Test- =4
=7V —)VR HEAT 5
T A X —Wrmis 0.34 mm? =A:1.5 mm?
T—7IE 5.5 mm r—7WI75 R

=)V Ay FHEER:7 ... 13 mm

AT VL AARAF—)l:8...15mm

TS AFw7:6.5...12mm

SR

U+ 75 A BRI T

U- <A F ARG

S+ 7Fug

Test+ 7T AT A S EE
Test- <A F A7 X Mgkt

WIKA data sheet PE 81.58 - 11/2020 Page 6 of 17



(LEEESEE

RS (IEC 605295FH )

RAEHERII T2 7 ZIRIC KD EED £,

TRUCAIHT B RSN, WS LEOFERO IR T 2 2MiHT 25 5ICGH 2D £T,
IP65m 77 >/F 25 —1% % % DIN EN 175301-803 A

IP67 m AL %~ % M12x 1 IEC 61076-2-101 A-COD

ALAIT 3%~ % M16 x 0.75 |IEC 61076-2-106

m P67 —7)vart b

m P67 r—T)varvte s, RiEF vy T ((REF vy TSKDRE SR 0WEGETHT %9 )
m BNC” — 7))l MIL-DTL-26482

IP68 m P68 —7)Vartr b, r—7)VFF K (72 h/300 mbar)
P68 —7 )V at > b (& KHTT 2 barDJIE ARIC HERRR)

IP6OK®m 7 ¢t —)L R — 2R

RHRARRS ATEX/IECEX

111G Ex ia llIA T4/T5/T6 Ga

111G Ex ia IIC T4/T5/T6 Ga
I11/2G Ex ia IIC T4/T5/T6 Ga/Gb
I1 3G Ex ic IIC T4/T5/T6 Gc X

11 3G Ex nA IIC T4/T5/T6 Gc X
113D Ex tc IlIC T90 °C Dc X

111D Ex ia llIB Togg 135 °C Da
111D Exia lIC T135 °C Da
I11/2D Ex ia IIIC T135 °C Da/Db
I11/2D Ex ia IIIB Tago 135 °C Da/Db

® | M1 Exial Ma
REdD AP T R E W,
il & %M (IEC 60068-2-6, TLIEIRENHENL)

® Model 1IS-3:20 g

m Model IS-3, IP677—7)bavt b, {f#F v v I fF&:10g

B Model IS-3, £/7L- > >1,000bar: 5g

®m Model IS-3, medium temperature ranges{} %: 59

®m Model IS-3, medium temperature ranges, 7 1 —J)V R —RA{}Z:2¢g

HEEME: (IEC 60068-2-27, mechanical shock¥E#l)

Model IS-3: 1,000 g

Model IS-3, 7 ¢+ —/)L R —Z{}&:600¢g

Model IS-3, [£/JL- > > 1,000 bar: 100 g

Model IS-3, P67 —7)La>vt > b, {Ri#+xv v 7&:100g
Model IS-3. medium temperature ranges{} &: 100 g

Model IS-3, medium temperature ranges, 7 —J)U R/r—ZAff&:50¢

BRARRCED  FPAIREHE (PIRHREX iID5E)

ot -20...480°C[-4 ... +176 °F]

Z7¥ a1 -20...+150 °C [-4 ... +302 °F] (only for flush process connections and measuring ranges < 600 bar [8,000 psi])

A7 a2 -40...+150 °C [-40 ... +302 °F] (only for process connections with pressure port and measuring ranges < 400 bar [5,000 psi])
4733 -40...+200 °C [-40 ... +392 °F] (only for process connections with pressure port and measuring ranges < 400 bar [5,000 psi])
FESEARHMILER 20 ... +60 °C [-4 ... +140 °F]

WIKA data sheet PE 81.58 - 11/2020 Page 7 of 17



RIS ARG, BRIA T 9 Y OEP | IREY T A, BRI IR

PR B EHEDET,
— See chapter “Specifications” in the operating instructions.

B R -20 ... +80°C [-4 ... +176 °F]

SRR ED < FPANR R (B RED Ex nA & Ex tcDIFR)

B AR -15 ... +70 °C [5 ... +158 °F] (B2 HALEE: -15 ... 460 °C [5 ... +140 °F))
B EPHRE: -15 ... +70°C[5 ... +158 °F]
B REIRE: 15 ... +70°C[5 ... +158 °F]

ME
B

HEIIL > <25bar & L < 1k <400 psi. ##iiB G 12 B flush, G 1 B flush: 316Ti
JEH LY 240...<1,000 bar & L < & =500 ... < 15,000 psi: 316Ti and S13800
JEF1L > > 1,000 bar: S13800

&R © G 1 B flush, hygienic: 316L

B £/ > <25bar & L < & <400 psi Tt > —3ZEBIC optional medium temperatures {JJ&: 316L and 316Ti
B [F/IL Y >25bar & L <& > 400 psi T > —3ZFHBIC optional medium temperatures {3 J&: 316L, 316Ti and

S$13800

= )UMEICDWTIE Tt 2 #TELTEEWN,

FEEER

mr—A ATFVLAARAF—I

m DIN EN 175301-803 A 7 ¥ 25— % 7 XZ: PA6

B M12x1 Y —2)baxs 2 GHEERENE) @ PA6, ATV LARF—)V

B MI2x1Y—7)baxs 2z GREBERERL) : ATV L ARF—)U

B M16x0.75 Y —27)bax7 2 (FAEBGREN X) @ PA6, A7 Y LAXF—)b, #ifi=w )L A
*

B M16x0.75 9 —27)Vax 7% GHEREEREL) : A7V L AXF—)b, flish= v L A v F

B FPEA[RE NI R AR T R PA6, AT VL ART =)V, TIVIZ )b A v

m P67 r—Varvt b PAB, AT Y LAAF—)b, =)L Xy FEER

mIP67 y—7Nartr b ((REFr v IE) ¢ X7V L AXF—)b, PA66/6-FR

m Iflﬁies r=narvvrrs (UF=JNVTSUVRFE) 1 ATV LVARF ), Zw T VA Y FE
WK

m P8 r—7)arvtr b AFYVLARF—)I

B 4= )VRIS 7 ATV LARTF—)U, = VA FEE AT L AAF—)L

B N A

AEEEAN—Y 3 Y BERA AV
HEEN—Y gy i mh—R2A AV
-HIE#iFH > 25 bar [400 psi|D¥a @ wZ e v

WIKA data sheet PE 81.58 - 11/2020

Page 8 of 17



U

c € EU declaration of conformity

European Union

m EMC directive, EN 61326 emission (group 1, class B) and immunity (industrial application)
@ During interference consider an increased measuring deviation of up to 1 %.
B Pressure equipment directive, PS > 200 bar; module A, pressure accessory

B RoHS directive
B ATEX directive
Hazardous areas

-Exi Zone0gas

Zone 1 mounting to zone 0 gas

Zone 2 gas
Zone 20 dust

[I11G Ex ia IIA T4/T5/T6 Ga]

[Il 1G Exia IIC T4/T5/T6 Ga]

[Il 1/2G Ex ia IIC T4/T5/T6 Ga/Gb]
[Il 3G Ex ic IIC T4/T5/T6 Gc X]

[I1 1D Ex ia IlIB T2oo 135 °C Da]

[l 1D Ex ia IlIC T135 °C Da]

Zone 21 mounting to zone 20 dust [ll 1/2D Ex ia llIB Togp 135 °C Da/Db]

Mining
-Exn Zone2gas
-Ext Zone 22 dust

1IEC IECEx
— @ Hazardous areas
-Exi Zone 0gas

Zone 1 mounting to zone 0 gas
Zone 2 gas
Zone 20 dust

[Il 1/2D Ex ia IlIC T135 °C Da/Db)]
[l M1 Ex ia | Ma]

[Il 3G Ex nA IIC T4/T5/T6 Gc X]
[11 3D Ex tc I1IC T90 °C Dc X]

International

[Ex ia IA T4/T5/T6 Ga]
[Ex ia IIC T4/T5/T6 Ga]
[Ex ia IIC T4/T5/T6 Ga/Gb]
[Ex ic IC T4/T5/T6 Gc X]
[Ex ia IlIB Tago 135 °C Da]
[Ex ia IlIC T135 °C Da]

Zone 21 mounting to zone 20 dust [Ex ia IlIB Topp 135 °C Da/Db]

Mining
-Exn Zone2gas
-Ext Zone 22 dust

EAC
m EMC directive
B Hazardous areas (see approval)

=

@ FM
RIRPED Hazardous areas (see approval)
CSA

o
O
-/
R
7

B Hazardous areas (see approval)

GOST
Metrology, measurement technology

KazinMetr
Metrology, measurement technology

MTSCHS
Permission for commissioning

BelGIM
Metrology, measurement technology

UkrSEPRO
Metrology, measurement technology

Uzstandard
Metrology, measurement technology

INMETRO

NEPSI
Hazardous areas (see approval)

@%H@@@ T ®®

WIKA data sheet PE 81.58 - 11/2020

[Ex ia llIC T135 °C Da/Db]
[Ex ia | Ma]

[Ex nA [IC T4/T5/T6 Gc X]
[Ex tc IC T90 °C Dc X]

Eurasian Economic
Community

USA

USA and Canada

B Safety (e.g. electr. safety, overpressure, ...)

Russia

Kazakhstan

Kazakhstan

Belarus

Ukraine

Uzbekistan

Brazil

Metrology, measurement technology (see approval)

China

Page 9 of 17



[Es KCs (KOSHA)
Hazardous areas (see approval)

- PESO
Hazardous areas (see approval)

//é& 3-A

Sanitary Standard

This instrument is 3-A marked, based on a third party verification for conformance to the 3-A standard number 74-07 (sensors
and sensor fittings and connections).

@ DNV GL
Ships, shipbuilding (e.g. offshore)

- CRN
Safety (e.g. electr. safety, overpressure, ...)

G CEW C AEHE

= MTTF: > 100 years
- China RoHS directive

- FRAE & REHFIC DOV T ORI MY = 79 A F 2 THE R E W,

WIKA data sheet PE 81.58 - 11/2020

South Korea

India

USA

International

Canada

Page 10 of 17



~TE (mm)
EHRSVAIvAR

NI Xy haAxy R
MIL-DTL-26482 (4-

pin) adjustable
Ll

227 &

021

hﬂﬂ
|
20

01/28
ENB37

P—2)Vaxs 2 M16 x 0.75
IEC 61076-2-106
(5-pin) not adjustable

LT

O
G1/28 |

ENB37

TYFaT—aAxT R
DIN EN 175301-803 A PG 9
adjustable

]
=B

~ 48

Tk

021

LA
20

Cl
01/28

ENB37

T

WIKA data sheet PE 81.58 - 11/2020

NI Xy haxy iz
MIL-DTL-26482 (6-
pin) adjustable

Lol

@771 ¢

IRl

071

]

ENB37

T
G1/28

Y—2)LaA%T & M12x11EC
61076-2-101 A-COD (4-pin)

adjustable

Wﬂ%ﬂ

271

o721

=7k

20

LL

01/28
ENB37

TYFaT—aAXRT R

U

DIN EN 175301-803 A 72 NPT

adjustable

~78

271

=Tk

21

20

G1/2B
ENB37

rﬂ:m»;:l
I

Y—7)aA% 7 X M16x0
IEC 61076-2-106
(5-pin) adjustable

o

=7

#21

021

20

01/2B
EN837

hﬂﬁ
|l

P—=7)aAxT 2% M12x1
IEC 61076-2-101 A-COD
(4-pin) not adjustable

[

=76

227

071

20

Page 11 of 17



P68 —7)Vart > bk
VNPT —7 )V 7 5 v N
not adjustable

T=TWT S5V Rt E
P68 —7)Var+t > bk
not adjustable

P67 —7 )Vt b
adjustable

I 1
= 2 2
=l ® o -
227 277 227 R
0727 021 021
il ] :Df JIERIE
) ) )
G1/2B | G1/2B G1/28 |
EN837 ENB37 EN837
P68 —7)Vart >k P68 —7 )Vt k Tr—TJIWT T RfE
PUR(IEAAN T DAHFH FHE) FEP (WA T D I &) P68 — 7 )Vt b
not adjustable not adjustable adjustable
= 2
Q N
= Q
277 @717 277 ¢
0?27 021 0?21
1 1L JIERIE
G1/2B Q1/28 | G/B |
EN837 EN837 ENB37

WIKA data sheet PE 81.58 - 11/2020 Page 12 of 17



TR v v T & T4 —IVETr—2A T — )L R —2

P67 —7)Lbat > k Yo NPT-| 5 T=TIWT5 Y R E
not adjustable adjustable adjustable
82 i =90 !
i
% %,
r 3
2 2
821
227 ?27
o21
JIEmIE ozt o
Ej I Il
- O = ]
G1/2B G1/2B
L a1/28 =
ENB37 NGy EN837
T4 —IVRTr—2 IS-8 BAIRE N IGA TS 5 AF &
M20 x 1.5-PE% -40 ... +150 °C [-40 ... 302 °F] and
adjustable -40 ... +200 °C [-40 ... +392 °F]

=48
[1.89]
| (| =
= ~
[ ; ﬁ =
TE| — | ul=
2 ﬁ 27 ‘
& | 2R
Q S
27 i 2 27 2=
‘ [1.06]
027 | om
. T
& | =
== | <|s
61/28 -
FNB37 ol
2
021
@IEN
|
- I=
o=
G1/28 =
ENB37

WIKA data sheet PE 81.58 - 11/2020 Page 13 of 17



BEN—=YaVOFEAISVAIVA

TOoX1Z—ARIY =)V a7 ZM12 x 1 P67 —7)Va vtk
DIN EN 175301-803 A PG 9 IEC 61076-2-101 A-COD (4-pin) adjustable
adjustable adjustable

=48

=5 [

ri; E
|
linutnil
| | |
| B840 | |
i i
| i P40 | B0 |
w 1 ‘ i
| = | = i = 2
i 2 i 0 ?
|
i
i i
021
= == 07 ——
| 4027
|
T
T A=V RT—2
r—TWF5 Y RitE
adjustable
i
i
i
Z i
3 |
< BL0
Q
O721
e

WIKA data sheet PE 81.58 - 11/2020 Page 14 of 17



BeET

1

L1

G 2 B EN 837 G A Ya NPT
G %2 B EN 837 20 G2 A 17 2 NPT 19
G % B EN 837 16 R 13
M20 x 1.5 DIN 16288 20 R 3 15
|
~ L1 ( g 7]_%( ] .
R ‘
A ! _ ‘ - o~ 0
I ( ; —
Lrl
G G2
41

6 fu __ a1 Je2 i1 fi2 ]i3 |

7/16-20 UNFBOSS  12.06 G ' B JIS B 7505- G%B G¥ 20 155 13
9/16-18 UNFBOSS 1285 76

L1

—
E J o I ] ) oN| T
D1 D

G G

6 [ fi2 [i3 fo1 MG it [z Jis Joi | _--E:-
G%B 23 20.5 10 18 G1B 23 20.5 10 30 G1B 25 15:5 1 129.5
hygienic

Surface roughness of wetted metal parts, Ra < 0.76 um

WIKA data sheet PE 81.58 - 11/2020 Page 15 of 17



JEAL >V TIH > 1,000 barDIFEOEREEIHE « ¥4 X

— o727 | === Q2Z2]
w7 R i
D1 01
n i
60° 60°

M16 x 1.5 12 9/16-18 UNF F250-C  11.2 4.3
M20 x 1.5 15 4.8

R E O BGRE - U1 X

-20...+150 °C [-4 ... +302 °F] -40 ... +150 °C [-40 ... +302 °F]
-40 ... 4200 °C [-40 ... +392 °F]

021

8.8

=76

021

L1

M | | S
6 I LH ]
(1728
EN837

_El ___
G'%2B 23 205 10 15.5 G%2B
G1B 23 205 10 15.5 30

By TRETBEY 7Ty M OW T, HAEHR IN 00.14 at www.wika.comZ & R &,

WIKA data sheet PE 81.58 - 11/2020 Page 16 of 17



11/2020 EN

TG U—, ARTIS—Y
B R (EBERLHIE Ex ki)

7 V¥ a25—a%%7 % DINEN 175301-803 A

IV RffE2mE—IVRT—T 11225793

TV RFEEmE—IRT—T )L 11250186
ARIAX T2 M12x 1

4-pin, IP67, 7>/ ' IWN—= 3 >/ 2421270

4-pin, IP67, A kL — k=Y g~ 2421262

BmEHIAXT 2 —)V

5
R (Za—T5))

7YF25—a%%7 % DIN EN 175301-803 A 1576240 11437902

Bas —nRy v

e
R e

G 4 B EN 837 11250810 11250844 - =

G %2 B EN 837 11250861 11251042 = =

M20 x 1.5 DIN 16288 11250861 11251042

GA - - 1537857 1576534
G2 A = = 1039067 1039075
) ¥— 2 fHaER

ISNY 7 —H U E—2{4EE R 14117118

BEY Y b

G%»BI75v Yol v b 1192299
G1BI7owYa BBy v b 1192264
GIBNAYVz=v 7oy Yo lBEY 7Y 14145179
GIBNAT 2w I ISy a BV v b, V—=0llFv> © 14145183
XIVAT 3-AY = 2 U —KASHEHL Zgﬁ

BREHEEOBICIE, TREBHRZ SEET IV,
BRI ESI L D TRERE | Heti ik « A XY & — )b [ Ba5iehoet /e B ORI 2

© 01/2015 WIKA Alexander Wiegand SE & Co. KG, all rights reserved.
The specifications given in this document represent the state of engineering at the time of publishing.
We reserve the right to make modifications to the specifications and materials.

WIKA data sheet PE 81.58 - 11/2020 Page 17 of 17

IWIKA!I

WIKA Alexander Wiegand SE & Co. KG
Alexander-Wiegand-Stra3e 30

63911 Klingenberg/Germany

Tel. +49 9372 132-0

Fax +49 9372 132-406

info@wika.de

www.wika.de





